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Which Amendment Act of the Indiap
Constitution reduced the voting age fr oin
21 to 18 years ?

615t Constitutional (Amendment)
Act, 1989

(1

65! Constitutional (Amendment)
Act, 1989

(2)

62nd Constitutional (Amendment)
Act, 1988

3

63 Constitutional (Amendment)
Act, 1988

4)

Which of the following Article says, ‘No
child below the age of 14 years shall be

employed to work in any factory, or mine,

(Kas.com

Waiver of fundamental rights was
observed in which case ?

(1) Basheshar Nath v. CIT

(2
(€))
“4)

Charu Khuranav. Union of India
Balammal V. State of Madras
Saurabh Chaudri v. Union of India

Match List I with List IT :

List I ListIT

The validity of I. Shakti Vahini v.
Aadhaar Act Union of India

>

Honour Killing II. B.K. Pavitrav.
Union of India

=

I11. Unni Krishnan v.

or engaged in any other hazardous C. Reservations

employment’ ? in Promotion Andhra Pradesh

(1) Article 45 T— D. Rightto 1V. Justice K.S.

(2) Article 330 Education Puttaswamy

(3) AI'thle 24 (Retd) V. Union of
India

(4) Article 368

Under which Article of the Indian

agricultural ~Income

Foresign

Choose the correct answer from the

=)
=]
e
i
‘-E.
®
B
o
®
)
€

Constitution 1is

A B C D
expressed ?

1

(1) Article 366(7) @ v 1 o I
@) Article 366(1) (2 m [ I IV
3) Article 366(18) @ v m 1 I
(4) Article 366(20) @ I v o I

(3-C)
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¢. Which Part of the Indian Constitutiop 8. Match List I with ListII:
f th BCi al P .
elguily SRS IR e ng List1 List IT
certain classes ?
A. Shankari I. Unamendable

(1) PartIl Prasad Singh Basic Structure
Deo v. Union

(2) PartIV of India

(3) PartVI B. Kesavananda II. Concurrent List
Bharati v.

(4) PartXVI State of Kerala

C. Fifth Schedule III. Scheduled Areas

D. Seventh IV. Inclusion of
‘ h i ked that,
7. Who among the following remarked tha S Te P
“The amending process, in fact, has 1B

proved itself one of the most ably
Choose the correct answer from the

conceived aspects of the Constitution” ?
options given below :

(1) Granville Austin I | A B C D

1 Iv I II III
(2) D.Conrad
2 I II IV 1III
@)  Elkins - @ IV I o I

4) 1 II or I

(4) Melton

547 (5-C)
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9. Match List I with List II

547

List I List IT

A. Article371-A 1. India-Bangladesh

Agreement
B. Article 356 II. Languagesof a

State

C. Article345 III. Nagaland

D. The IV. Failure of
Constitution Constitutional
(100th Machinery
Amendment)

Act, 2015

Choose the correct answer from the

options given below :

A B cC D
() I II v 1III
2 IV III I I
(3) II v I I

(4) III IV o 1

(7-

10. Given below are two statements, one
labelled as Assertion (A) and the other

labelled as Reason (R).

Assertion (A) :
Domicile in India is an essential
requirement for acquiring Indian
citizenship.
Reason (R) :

The term “Domicile” is not defined in the

Constitution.

Choose the correct answer from the

options given below :

(1) Both (A) and (R) are true and R is

the correct explanation of (A)

(2) Both (A) and (R) are true, but
(R) is not the correct explanation of

(A)
(3) (A)istrue, but (R) is false

(4) (A)is false, but (R) is true

C)
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12.

13.

547

The Golden Quadrilateral Project
connects which of the following citjeg
through highways ?

( 1 ) D e]-h-i! Mum-bai, KO].kata and
Chennai

(2) Mumbai, Pune, Chennai and
Bengaluru

(8) Delhi, Chandigarh, Jaipur and
Mumbai

(4) Kanpur, Patna Kolkata and
Guwahati

The policy of disinvestment of equity

capital of public enterprises is mainly

intended to

(1) Reduce the burden of budgetary
support to them.

(2) Convert them into  holding
companies.

(3) Hand them over to private
entrepreneurs.

(4) Make them profit-earning
enterprises.

‘Level playing field argument of

industries implies :

(1) MNCs to be stopped from investinq' I

in India.

Domestic industry to be treated at
par with MNCs.

License for MNCs to be given
only environment—friendly
technology.

(2)

3)

in

Domestic industries to be given
preference.

(4)

(9-C)

14.

%

A 14'hFinance I Vijay Kelkar
: Commission
p, 13thFinance I  AM. Khusro
Commission
o 12th Finance III. Y.V.Reddy
Commission
p. 11" Finance IV. C.Rangarajan

Commission
Choose the correct answer from the
options given below :

A B C D
a I II nm 1v
2) I I v 1
@) IV III om I
4 1 II IV I

During the Delhi Sultanate ‘Khalisa’
meant :

(1) This land owned by the Sultan

(2) Jagir lands of military officers

(3) Inam land given to Muslim scholars
(4) Land owned by Hindu leaders

Consider  the following financial
institutions :

A. IFCI

B. UTI

C. 1IDBI

D. ICICI

Arr_ange them in a chronological order of
their coming into existence :

(1) B,C,D,A
(2) A,B,C,D
3 C,B,A,D
4 D,C,B,A
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17. The 20t member joining ‘Navratna Cluy

18.

19. In India, highest employment elasticity isl I B.

547

of Public Sector Enterprises is :

(1) Oil India Ltd.

(2) Coal India Ltd.

(3) Power Grid Corporation of India

(4) Rashtriya Ispat Nigam Ltd.

Stagflation is a state of economy in which

the economic activity is :

(1) Slowing down, but wages and prices

continue to increase.

(2) Increasing, but wages and prices

fall.

(38) Increasing, but wages as well as]

prices also increase.

4)

Decreasing, but prices and wages’

also decrease.

found in which of the following sectors ?

(1) Transport

(2) Financial Services

(83) Construction

(4) Manufacturing

20.

(Kas.com

N

@R
()
ok

o

(11-C)

9

Match List I with List II and select the

correct answer -

ListI List IT
(Committee)

A. Disinvestment I. Raja Chelliah
in Public Sector
Enterprises

B. Industrial II. Omkar Goswami
Sickness

c. Tax Reforms  III. R.N. Malhotra

Reforms in
Insurance
sector

Choose the correct answer from the

options given below :

D. IV. C. Rangarajan

A B C D
a I v 1o I
@ Iv I I I
@ IV 1 I I
4 I m v I

The reasons for a continuous decline in
the average size of land-holdings in India
are :

A. Law of inheritance

Land reforms
C. Farm mechanisation
D. Desire to own land

Which of the above are correct ?
(1) AandB only
(2) AandD only
(3) CandD only
(4) B and Conly
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92. Match List I with List IT :

547

List I List IT
(Chairperson (Main Objectipe of
of the the Committee)
Committee)
A. Pandey L. Establishment of
Panchayat Raj
Institutions
B. Wanchoo I. To identify the
industrial
backward areas of
the country
C. B. Sivaraman III. Redress regional
imbalances and
reduce the
regional
deprivations in
Karnataka
D. Dy IV. Financial and
Nanjundappa economic

measures to
remove industrial
backwardness

Examine the
validity of the
various concepts
of backwardness
and recommend
the criteria by
which backward
areas should be
identified

Choose the correct answer from the
options given below :

23. The major function of SEBI is

(1) Advancing credit to investors.

(2) Framing fiscal and monetary

policies.

(3) Creating new stock markets.

(4) Regulating India’s securities
market.

&

Quad Group consists of :

= (1) USA, India, Japan, Australia

S

cU (2) USA, England, India, Japan

K

(8) Russia, Japan, India, China

o

(4) India, Japan, England, France

gh

Total stock of agricultural land resources

Net sown area + fallow + culturable

wasteland

(2) Area under pasture + forests +

A B C D barren wasteland
(1) 1II v Vv II1
(3) Land put to -agri
@ 1 1A% mn I elp ; non-agri uses + barren
wast
3 1II Vv v I and + culturable wasteland
4) 1 II v I (4) Fallow + forests
(13-C)
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T 2 @3 T 5T O 4 : 8 12
BRREEOHS  weoBdR, R, |
Noad, ) ?
75

88

99
105

(1)
(2)
(3)
(4)

BOR)
SOdRCWATT, BTV 283, ézs’uddg(

DTARENH CANBETAY

q,
T 2400 20T OTOVICONT. =TT
4 JBFRH  DBon BRened PO
5080 Bd ATUHF R ST B3 T 100

O, BWRNS DR, IPFARD  Jry

muodod) ?

1 8 &

(2 4¢ M

@) 12 ﬁfﬁ/
@) 10

& 5
m%//
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How many numbers from 11 to 5q
are

26.
exactly divisible by 7 but not by 3 9 29. 1f circumference and area of a circle are
numerically equal, then the diameter is
()] Two (2) equal to
@ Four@® 2
(2) 2=n
@3) Five (5)
. 3) 2
| 4 Six(© 4) 4

There are few coins of ¥ 1, ¥ 2and ¥ 5in
a purse amounting to a total of T 220.

Ifa+b+c=10and ab + bc + ca =31

217.

find the value of a% + b? + ¢? The ratio of the ¥ 1, ¥ 2 and T b coins is
4 : 3:2. Find the total number of coins in

(1) 69 the bag.
(1 75

2) 162
(2) 88

3) 131

e 3 99

4) 38 4) 105

Some students planned a trip. The total
cost for food was estimated at ¥ 2400.

98. Find the smallest two consecutive odd
Because 4 students failed to go, the cost of

3 ‘ positive integers, the sum of whose
. food per student has increased by
) squares is 290. = 100. How many students attended the
trip ?
(1) 11land 13
1) 8
(2) 1land-13
2 4
(3) -11and-13 3 12
4) 10

(4) None of the above

547 (15-C)
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Zoed: FUNG S, womd> 08 SO0,

dRTDo Sr:1alJ)

-
Rousoges, ot Ho8edn, 32— 95 0D

Gty evgor

QG

SIROLBOR 20¢E, Sameedd SERQ Womd TUFY,

34.

35.

700

600

500

400

J00 /

200
100

32, SOHTYS 8 Bed) FTI 9PN I

(1)

A (3)
"

EOD0TIT — BRee0w0
S0oNFe™T - 2053700
rOBOERT - 8zo0

o3RRTe &)

33. =8 éz&gd &3T0030 83 AT

(1) Reedmo

(2) Wm0

(8) m™Bwd

(4) 30
3;.

547

(16-C)

308 eBQobd  OIIpoTE  Joexy
ST030E) VAL

T 325

T 400

3) T 270

(4) T 375

BEITOXND Ty RBI0Y IOV ~ AR TR
TR SONFoT- 0GP0 ESJC%
&eNR) :

(1) ©RAN

(2) AT

(3) ©RTHNR

“4) 3R AR

AR0BER, SRCDFRAT[RD 03I PClt]
BEOTINTOZE :

(1) 22y B3odd SgB0E

2)  =JZosFo30 ©ZoZNTIN

(3) abq W0 Fornd FO000F RORIGF T
e;m@aba’% ToesHOTON

B0eOT QP

(1)
(2)

(4)

A B B i wnIde 0@ 3o

PUSNTT, B INSIRLG, A
RO0IRNEY) 2

(1) P(A|B) = PA).
(2) PB|A)=PA).
3) P(B|A)=P®).

@ PAB) = 1 - P(A) - PB) + PAB),
A® oo A 3 ooy P00

RpwRds,

Scanned by CamScanner

7 i



. g: The h gi
Sireo sions : The graph given beloy represents | g 4. The average earnings per day during the

: o 83 in earnin, ]
he variations €S In Tupees opep |,

week was :
no. 3235 (2) T 400
The variations in earnings in Rupees over 3 week 3) T270
4) <375
700 psi——— __.__..--‘\ e e——
o P N ——— | 85. The money transactions between
A4 X Sunday — Monday and
400 /’7_ \/ \ e
w—7" ——— Tuesday — Wednesday were :
S —
100 (1) Unequal
0

Sunday Monday Tuesday Wednesday Thursday Fr;day Saturd:
o (2) Equal

(8) More

39. The difference in earnings was largest
between :

(4) Less

Sampling is compulsory in the following

(1) Sundéy — Monday situation(s) :
(1) Blood test of a person

(2) Tuesday — Wednesday
(2) When the population is infinite
(8) Thursday — Friday (3) Testing life of dry battery cells

(4) All the above
(4) None of these

esSightkas.com

@7 If A and B are any two independent
O events, which of the following is not
33. Highest earnings were on : Il I correct ?

(1) P(A|B)=P(A).
(1) Monday |

(2) P(B|A)=PA).
(2) Wednesday (3) P(B|A)=P(B).

4) P(A°B®) =1-P(A)-P(B) + P(AB),

(3) Thursday
where A° denotes the

4)  Saturday complementary event of A.
547 (17-C)
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38. &b Ddsonod B

39.

(1) oeIe BIRPOYC),
2-25% IO
\: =
/ ’{\ 2-25% OR) BRZIRRIT
\"b BRIT )
40. A, B No8 280 &TT C hod 8%, D, E A

547

©Z0N03 Reeane® o0k, &T0 e9:300N03
BESD. gy, BT 032 Elbab&
230N 03 as#dcb d:»dm ooRT

BRBIH. Recmow R P 3355'053

dod:m;v o3%T3H ?
2) Baor @’
(3) ) ﬂ
€9
4) ARG CBRITe A,

2000 TS I3 15% éa%ﬁcmhd. 30
15% 3R [RBOONG. FRS00A, 33
2Je3:

B, B 2300m E 29, 2308 exbres
2030 2B0A,FTA, LI 03Rdd ?

oo}

(1)
(2) A
3 D

E

4)

(18-C)

41. A =deyd T 300 Aot 2.0 d’o"’;,*d

6 OINTO, SNBSS, =08 eI g,zl
AT IOVRLIA ) SeudnoR ©Te suﬁdw
4 OINGY, BONATT N@Q’Dﬁaﬁ

FnEEeTs B0 R, ?

(1) < 100
(2)
3)

(4)

T 150

T 50

T 125

word BDAYFI), VWO SooeH, Wb
S0eeS, 7-5% T, Reednt T 555 § TR0
SINBoND). TMREE 8 BRI
RRTBEIOD WS :

(1) %600
(2)
3)

(4)

T 630
T 562:5
T 625

AN @55;; Rowyd 3e. 5 dﬁm Seednt
QeBLD IFFOAT, FowTT DITORD, 9ZM)
WIIF), WBROWY T 1,687-50 OR), o3
SRRG. 8 oD 2ot AGFOATY
75% SN3). [ Bows D) ?

(1
(2)
3)

< 37,500
< 45,000
< 33,750

4) AFFORROROY,
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38 Anu 18 older than Mamta. (3:)%] 18 oldep
than Mamta, but younger than Ap.
gapil is younger than Ram and Mapy,
Mamta i older than Ram. Whoge —
petween Gopal and Ram ?

(1) Mamta

2) Kapil

3) Anu

4) None of these

39. The price of a shirt is increased by
15% and then reduced by 15%. The final
price of the shirt :

(1) does not change
(2) increases by 2-25%
(3) decreases by 2:25%

(4) None of these

40. A is taller than B, but shorter than C. D
is shorter than E and E is not a tall as B.
Who should be in the middle if they stand

41, A alone can complete 2 piece of work of
300 in 6 days, but by engaging an

e work is completed in 4 days.

?

assistant th
Find the share to be given to the

assistant.

(1) <100
2) T150
@) ¢T50

4) T125

An article is sold at a discount of 7:5% on
é the marked price for X 555. Then its

O marked price is :
(1) < 600

(2) <630

(8) T 5625

(4) T 625

#/Vaibhav decided to donate 5% of his
salary. On the day of the salary, he
(1) changed his mind and donated
S ¥ 1,687-50, which was 75% of what he

O had decided earlier. How much is his

sightkas.c

5
in a row according to their height ? salary !
1) ¢ 37,500
1 B (1)
2) T 45,
@ A (2) 5,000
: (3) ¥ 33,750
@ D
@4 R (4) Cannot be determined
347 (19-C)
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35 $F° oBges | 46. Jmor 38 JOTOE §roose Ded 2020 - 209
44. oIS 202209, S
[l S - D’ ﬁmdféﬁ'i)
Z0FBT 2
Bemorsd Zosrs HH° A. INR 5 ©F 8063 TRTA m@so:omﬂ
Bew2d Sede BB 306 .
(1) oo B. 20 ©F =I0N wcﬁ:aéemdmaai
2 QRT)TI0.
@  Ereadoesoin HaTD ]
C. oardaon 3eswe 10 dea% 3room
W wededy oy PODID.
@ Ao D. 308nY ORI, BB 5 [ORNE,
= RRTISE mgdsbq LEBO30YT0.
5. SHab DA 2050 % B0 Beedned), IR/ R0 ?

1) SF=dd  Jochd  evmEony
393N FeBE BI00k3 WRBIT

1) A 3RS, I0ERNS
@ A3 B 3N ZOGIRAS

(2) 3R> WIEERNTIS WBFEIE SH7 3) B 03 C =08, I003RAE

Slata DPYT,  WRkeeRD
DRVT  SRONE  RRR/TIRE
Roends Suda ok, )

(4) A, B,C 3D Red ZocInn

7. TSR0 n 29 PO, 2020 Tom)
g aimdo#eiojoém AT 3008 QesRY
AT & 2 oiraezza’aﬁoég{ TD,TOPATIR.
AT D L AOTT

(3) e;smo:bsaigt ROPEIT  Beomo

Beoonsd Tond @zﬂoz&daﬂ#sﬂz{

RRCBHO3E, BRTRRRBED,

4 B0odS 30 TTYE, 9150 33T I
BREDET RN OP s @) 3B vvears Bopess
SleliXatu} STODTI), e @) ©%8 HEIE Boge

Ui afeolalda] 03,50 RRORIT..

4) d:dﬂraa%d NBTT Bogpesd
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i The first African team to reach the
semi-finals of football’'s showecage event

FIFA World Cup held in Qatar in 2029

was
(1) Ghana

@) Croatia
(3) Morocco
(4) Senegal

onetization mean
45. Asset monetiz S Which of the above statements is/are
(1) Selling the public sector true ?
undertakings to the private sector. (1) OnlyAis true
. (2) Only A and B are true
2 A process of creat
new/alternative sources of revenue (8)  Only B and C are true
by unlocking the economic value of @ A,B,CandD are true
underutilized public assets. The Prime Minister launched the FPO
o ) Scheme on 29t February, 2020 as a form
3 : d debentures
) Selling of shares an u"LI_ of reforming agricultural marketing. Here
tin
the open market for generating FPO stands for
FEvenne: (1) Food Processing Organisation
(4)  Promoting afforestation (2) Farmer Producer Organisation
; ilable
tentially availa
9150 sq. km po - (3) Food Producers Organisation
forests to generate revenue
(4) Fertilizer Producers Organisation
another 30 years.

46. The objectives of the Industrial Policy
2020 — 2025 of the Government of

Karnataka are

A. To attract investments worth
INR 5 lakh crore.

B. To create employment opportunities
for 20 lakh people.

C. To maintain an industrial growth
rate of 10% per annum.

D. To reach third position in

merchandise export in the next five

years.
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(1) A0 goIND
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49. DI, DB ©Yos TR,

TOBF R, B FINS 3T R, RRRTRN
1) oootrdeds  mded  w0Es)

[ag]

TR i
@) o03e0) B3t WHINB @@D%L

3) I B BT T :
@) QB BEoHd IDUGDY, =

152,

50. 03 XO®OS ene3nos, IR
30mdd g wowo WK, RogR)
M050R) ANOBTRIT B0 =03 dmaml
S0 TIRNYRY, D0 BRETE. s
NS odnE  &T0 @a‘)ﬁr{@e’dg{ Foo
Jo®sy) 3F woww U
BRBOBE ?

(1) I 5%, N0l 3 FRS
2) I3, TN 2R wreed

@) Reed, 3emb 136 SHB) B %

4) FoedT RFe e

adowor 19, 2022 docdd, I8 Tegy

SR08300T I, 338 9, ooy
22eTHOT, RRedIBQ,D TURORT, ROTRT,

190 To%,TIS0 G;da»d 0 30 SR 30 §

Roosd), VTS

(1) 2030 G et 30 r0MFR), PROFD.

2) eoaouldsm 30 BeANI)
ggd08 30 CINATAY BRoTITT
Be3ren B30T

3) wnes Jedwo 30% OF), PR TN
R0, 2030 TRYT RoTgReo B3y
BRBORFTO.

4) 2030 T TSR NST aaa;’a’nddsi
3.5°C B¥R @8RS JReABRR.

3INS BeSINTIR) TONESA -

A IRGRT WoZBD  BFER0ON
BT Benz) BLRMOTT.

B. [Ingdd evggod BuFdeodn
BT Seny) BLRRISA.

C. R[nFIT wIRT BBFRR0IN 3UB
Benay BRROZT.

R0eOT BePERTE BRTJIO [0 X0 ?
L A@wS,

2) BIng

3) ABIRC

4) B 3)C 8@
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8 The Government of Karnatq, hs
introduced & Raitha Siri’ program, f:
the farmers to grow r

(1) Minor millets
@) Horticultural crops
3) Plantation crops

@) Vegetables and fruits

. Asia’s largest Solar Park is situated in :

(1) Sindhanur taluk of Raichur district

(2) Pavagada taluk of Tumkur district

(3) Athani taluk of Belagavi district

(4) Padubidri taluk of Udupi district

50. As per the Government of India order,
every year the Government of Karnataka
purchases food-grains under Minimum

Support Price at the quantity and rate

S1.

On December 19, 2022 around
190 countries adopted a goal called ‘30 by
30’ at the United Nations Biodiversity

Conference in Montreal, Canada with an
objective of :

(1) 30 targets to achieve by 2030.

(2) Insisting on 30 developing nations

to protect 30 vulnerable species.

(3) Pledging to protect 30% of the

world’s land and seas by 2030.

Limiting the global warming to
3-5°C by 2030.

4)

Consider the following statements :

A. Speed of sound increases with

increase in density of the medium.

B. Speed of sound increases with
increase in temperature of the
———

medium.

C. Speed of sound increases with

increase in pressure of the medium.

fixed by the Government of India. Which
of the following foodgrains are purchase Which of the above statements is/are
under the MSP scheme ? correct ?
(1) Moong dal, Tur dal and Chana (1) Aonly
(2) Paddy, Ragi and Jowar (2) Bonly
)  Wheat, Tur dal and Moong dal (3) A,BandC
(4)  None of the above W Bothrl g
347 (23-C)
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54.

55.

547

‘93p’ R

m@&:&moma’: ?

(1 15 eﬁ@ , 1947

(2 15 em;, 1969

(3) 15 e:srfx; , 1952

4) 15 esn’m; , 1967

0T Boed e I3 OTD DF
£

T30S, DO, Feeoen, o

sslelaietnla WEIRYR) BEBERen :3es ‘LL.

(1) a%éédsa

(2) 808
@) ZeFos

@ SR

(24-C)
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BRe8E g
Sy g

Sy
- A=) g?«'
AOTBE /TR Tl

2

OB 2:0 02003508 n
N Seege CReRTY :

(1)

oz

24 Q
2) 120
@B) 60

4) 01660

33 NI ﬁe@ﬁr{@ddgt TWOMES :
FATOT (A) :

B0 -BAT) W, VDBBS Sononed
ﬁzsaw NoRIoE), RO,
5009 (R) :

SonACY, O X BearBosonethses =)
NOBROG 2,08 o B00303%.

31 $IR DeBRTOT uIoRPY, XO vIoII)
Sew) DI
(A) ) R) STB 70, 383 R), (A)
3 BO03RT DRVEBCIRNT.

(A) 33 (R) S0RR FOBRN 500
R), (A) & F003RT TR

(D

(2)

(8) (A) RO03RAT, =30 (R) 3@:\5.

4) (A) 3TN, ST R) 3O03RNG-
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55.

347

ew All-India Service can he Creat
ated

by :

(1) A resolution of the Rajya Sap,,

@) Anact of Parliament

(3) An order of the President

4) A resolution of the UPSC

When was ISRO formed ?
1) 15 August, 1947
@ 150 August, 1969
@) 15" August, 1952

@) 15h August, 1967

When a soap film or oil film on water is
observed in daylight, it exhibits beautiful

colours due to :

(1) Interference
(2) Dispersion
(3)  Reflection

4) Refraction

56. When a 12 V battery is connected across
an unknown resistor, a current of 2:0 A

flows in the circuit. The value of the

resistance of the resistor is :

1) 24Q
@ 12Q
3) 6Q
4) 0166Q

Consider the following statements :

O Assertion (A) :

(/) Red-green colour blindness occurs with
(U more frequency in males than in females.

et [leason (R) :

TC Females have two X chromosomes and

O)

| - males have one.

CD Choose the correct answer from the
& options given below :

O Both (A) and (R) are true and (R) is

| I 1
the correct explanation of (A)

(2) Both (A) and (R) are true, but

(R) is not the correct explanation of

(A)

(3) (A)istrue, but (R) is false

(4) (A)is false, but (R) is true

(25-C)
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=330 Zegy OBY, shortdaos g, B
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500 (R) :

X) Donegedy IRV Smaimésﬁdaq
BRI o BB FRDOBT
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(Y) Soongety uosn  TETIneeR,
SBOBHL  yUsE  ¢ved PN
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(Z) Rdongrdd ﬁéwdo ﬁwﬁﬁ@ﬁ o

BBO3W 20T Zeednen
BITIFR.
31 391t DEATS ©u3oRYY, 30 evgoy
503 IR :
(1) TePd (A) ) 590 X) TRER IO

B T[EWTI  (A), (X) ée@@ril

ROCIRT FTEIONG.

(2) TeLd (A) 3O0NT ) (X), (Y), (Z)
QO FOTEINT FOOTRNGS.

(3) BePd (A) BaB 1R (X), (V), (Z) ey
FO0EINED TOOZRNGES.

4) TePd (A) XOOWW I TTH (Y)
0 (2) N Bewsnt (A) Joosng
QRTEBO3RNGS.
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R ? |

1) e
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4) tmsdm@dg
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torsi der the following statementg -
Assertion (A :

Mangalore has high degree of average
remperature in the first week of J anuary,
whereas at Delhi the temperature will be
Jower than Mangalore at the same time,

Reason (R) .

X) Mangalore is experiencing maritime
climate and Delhi

is - having
continental climate.

(Y) Mangalore is located in the
Southern part of India, whereas
Delhi is in the Northern part of
India.

(Z) Mangalore is nearer to Western
Ghats, whereas Delhi is nearer to,
Siwalik Range.

Choose the correct answer from the_

options given below :

(1) Assertion (A) and Reason (X) are
true and (X) is the correct Reason

for Assertion (A).

(2) Assertion (A) is true and all
Reasons (X) (Y) (Z) are correct.

(3) Assertion (A) is wrong and all
Reasons (X) (Y) (Z) are correct.

(@) Assertion (A) is true and Reasm:
(Y) and (z) are the
ertion (A)

explanations of the AsS

(27-C)

59. (Consider the following statements :

Assertion (A) :
The horizontal distance between the

contours varies from place to place.

Reason (R) :
The distribution of contours depends on
the patterns of land forms.

Choose the correct answer from the

options given below :

(1) Both Assertion (A) and Reason (R)
are true and Reason (R) is the correct
explanation of the Assertion (A).

(2) Both Assertion (A) and Reason (R)
are true, but Reason (R) is not the
correct explanation of the Assertion

(A).

(3) Assertion (A) is true, but Reason (R)

is false.

(4) Both Assertion (A) and Reason (R)

are false.

Money Bill can be introduced in the State
Legislature with the prior consent of :

(1) the Speaker
(2) the President
(3) the Chief Minister

(4) the Governor
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Match List I with List 11 .
A 6 i ith List II :
(Seismic (! Char‘acteristics ) List I List I1
Waves)
- (Instruments) (Functions)
A Primary I Cannot travel
Waves through liquid an d A. Theodolite I Finds coordinates
travel at varying of a place
speeds thraugh the
solid part of the B. Pocket II. Vertical
Earth’
S crust. Stereoscope measurements of
B. Secondary II.  Travel at the same objects
Waves speed in all the E
1 . .
ayers of the interior C. GPS II. Conversion of
of the Earth. O
Raster data into
C. Surface III. Travel at fastest O Vector data
Waves speed through solid u)
mai';erlals. In hqmd, cU D. Alidade V. Interpretation
their speed will be
reduced. .L‘ﬁ of Aerial
IV. They are also called Photographs
long period waves
with low frequency s V. Viewing of objects

and are responsible
Choose the correct answer from the

for more

destruction. options given below :
Choose the correct answer from the
options given below : LI_ A E C D

A B C 1) I III AY 1

D 1 11 I11 2) 1II IV I \Y
2) III 11 IAY 3) 1II III Vv 1
@ n m @ v m 1 Vv
@ m I 1%

(29-C)
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63. T3 I Tea Il o{cly Y
T3 1 30500

(ussgost®)  Fog

[ 53
A. Spox ST o

B. %3m0 I &0 b
C. ouB 111, 803%F s
D. R0 V. ;,J;jwt_i)df-"
y. Snds
30
83 20R neadds Cv3onve, RO VST A
3030 B
[+
A B c D B.
1 Vv I n I
(2) 1I I v Vv
3 V 1\ 1 I C.
4 v m Vv I
64. mgd Iaig_L ﬁ&i I BRodn RORROVA
sdég I a’eg I D.
(P 3gw) (35|05

A. %@odéma&é L #a’péeéxaea’%

LL

OO

B. RBcuio’ L. RAormord B3
BOOD

C. o333 IIL. Zyeodd

D. D&, IV. Psoins

31 91 QeROOB GVZ0MvYY 3o evgoR)

S503) JR@ : :

A B C D

(1 1I v I 1

(2) I I IV 11

(3) III IT I v

@ O IV g jq

547

(1)

(2)

3)

(4)

(30-C)

65. aﬂwdlail mgd 1 BrodR FOBROOY *

o8 1 TS 1T
(%o ePEO0 (3¢ 3onz
QTYT) SN ey
2egnisd)

rowe BEe3 I ded

O :’&dmﬁr{%b II. 29

W0P wgme I Jowd
RR0&S R

we BBeST IV. IO
230

8 39 QeRTT GVICNFE) A0 LVITR
Ejo'ba =B :

A B C D

v m 1 I

VAR G
m I I IV
III I II IV
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Match List I with List IT

List I List IT
(Relief (Agen_ts Of
Features) Denudation)
A' ]_,oeSS P]ain I. GlaCler
B' Cirque H. RiVeI-
C— Bajada I11. Undel»gromd
water
D. Uvala IV. Sea waveg
V. Wind
Choose the correct answer from t{h,
options given below :
A B C D
M Vv I II 101
@ I I IV Vv
@ V v I I
4) IV 111 Vv 1
Match List I with List II :
List1 List I
(Map (Region/ Purposez
Projection)
A. Cylindrical 1. Temperate zone
B. Mercator II. Equatorial region
C. Conical III. Polar
D. Zenithal IV. Navigation

Choose the correct answer from the

options given below :

A B C D
1) 1 v I I1I
@) 11 I v II
@) 1 11 I 1\

@) 111 v I I

65. Match List I with List IL:

List I

List I1

(Land use Pattern) (Colour used

in Toposheets)

A. Cultivated area I. Blue

B. Water features II. White

C. Sparse or no ITI. Brown

vegetation

D. Elevation of land IV. Yellow

Choose the correct answer from the

options given below :

(1)

(2)

3)

(4)

(31~C)

111

III

B C D
I II I

I II 111
II I IV
I | G \V/
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2R002NeR | 67.

el g% .

Bor0QAB3 g;ag_p‘ét’@iﬁ J"d’é

OR BRI

A 9% eoFEwed oI fﬁ

3R Fagonoomeh 2oRWTZE:
-

B. om 50339 08 T RO
RN &,gtédaga%moadbgé’.

C. @3 Rnodd VITGFRRETRE,
Recinos ot SRMnmN
Sarmgriewdd  AOERNCR [,
RIS,

D.

Q) €030° FFOoD RoDEST
OPT0) BROIIS.

81 F9 DA UMY 3o evgtRy
Ede% R ]

(D

(2)

(3)

(4)

A 323 C B3
AR D Ing

C =3 D @ng

Babaigcm%

(32-C)

wng  Jwemnen FowoAT0I 3%
&ae@ﬁ@d&r‘bwéﬁo:

A WSO : AW SERTE  Hpp
DeoBNDY, GUB0 BYFT Zh3,

B0oRPOE), BOCINIT.

B. o7 R0F : A0 SEBRTE Wy
BoBewN3Y, D WR0COTT e
300030 BOOINIT.

C. BRTRe3Ppe : VT YVRRTT Tori
DomwoNTy, WIS I
500 030E) BOOZ.

D. 2.03pedspe : Qmd LURRETE Tl
TIOBHONTDY,;  FOWES,  BTI[EARY
DOOINF.

33 391 ReRDIS VIORFE) RO VTR
503 WRA

(1) A 3B ROCHY
(2) B SRS, ROCW0OY,

3) D &R 3000,

4) B 33y C X0

I
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347

with reference to the tropicg) cycloneg

find

A.

the incorrect statements -

It is a system of low—pressure

occurring in tropical latitudeg.

It is a centre of high pressure

surrounded by low pressure,

In Northern hemisphere, it blows

in clockwise direction and in

Southern hemisphere it blows in

anti-clockwise direction.

They develop in the intertropicall

convergence zZone.

Choose the answer from the options given

below :

(1)

(2)

(3)

(4)

A and C are incorrect

A and D are incorrect

C and D are incorrect

B and C are incorrect

&
Q
O
W
S
E
I

(1)

(2)

3)

(4)

(33-C)

67. With referen
incorrect pair :

ce to ocean currents, find the

Canary : Cold current which flows
along the Western coast of North

Africa.

Falkland : Cold current which flows

along the eastern coast of South

America.

Kuroshio : Warm ocean current
which flows along the east coast of
Japan.

Oyashio Warm ocean current

which flows along the east coast of
Kamchatka.

Choose the answer from the options given

below :

A and B are incorrect
Only B is incorrect
Only D is incorrect

B and C are incorrect
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71.

69.

(2)

(3)

4)

547

70. 31 &@3owo, 2021 8803, E'a:)rugw

(34-C)

IR0 Taradd BTN Joss 3,030

(1) 54

(2) 35

3 45

(4) 55

BYnS  ePrinees
SRo0a,  «eF
YOZTH) 50 -

BTST  DYersrRD

3RTBAD  Zooing

(1) Fowoon, Peme, vcte) 333

WROFT Do) BBR3T)

@ @9md,  dowdh,  BEed
DODTT TRy vgd B3R

W), DRERD), BT d

etz “

(3)

333 =) Sorooh
4) @emD, sowdh, «dd I
DRaHTT o) BHHEA0)
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69.

47

the clouds fi :
m.andge' e clouds from chi_g.h& 0 Towey
gltitude - T

Noctilucent clouds,
clouds, Cirrus clouds,
clouds

Nimbostt‘atus

Noctilucent clouds, Cirryg clo
Nimbostratus clouds, Stratg,
clouds

) ol

Uumulyg
B Cirrus clouds, Noctilucent clouds
Stratocumulus clouds, Nimbostratus;
clouds

Nimbostratus clouds, Stratocumulyg
clouds, Noctilucent clouds,

clouds

4)
Cirrus

Read the two statements and choose the

correct option :
Statement I :

Varahi river originates near Guddekopp
in Hosanagara taluk of Shimoga district.

Statement II : N

It forms Kunchikal falls before joining the
Arabian Sea.

(1) Both Statements I and II are true

and Statement II i related t

Statement I.

(2) Both Statements I and II are true,
but Statement II 18 not related to
Statement II.

(3) Statement I is trué but Gtatement
I is false. _

(4)  Both Statements are false.

70. The total number of National Highways
in Karnataka as on 31st December, 2021

was

(1) 54

(2) 35

(3) 45

(4) 55

Choose the correct descending order of
districts based on their geographical

area:

(1) Kalaburagi, Belagavi, Uttara

Kannada, Vijayapura and Tumakuru
Tumakuru,

(2) Belagavi, Kalaburagi,

Vijayapura and Uttara Kannada
(3) Belagavi, Tumakuru,
Uttara Kannada and Kalaburagi

Vijayapura,

(4) Belagavi, Kalaburagi, Uttara

Kannada, Vijayapura and Tumakuru

(35-C)
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(933 5200)
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aé’a‘sioacmd oone IV.

e.-soj%aiﬂ@:

(1)

(2)

(3)

4)

A

v

L

II.

II1.

V.

II

III

IR 3 11 Geolrt oRR00A *

&, n
Bi0)

-
25820

BB

B0aBRTD

ToR0INT

iRt

73.

oM

(36-C)

T 1) T3 11 GRBES B0 -
QW

oo wp

283 1
e

o3 11

(35 zeamoD) (24)

ord
20T Te3ED
-] ed
asi’.raeﬁa:§3&§J
ﬁgrbc?é

1 nan

II. zjé&bﬁr

1. evgd 3E
V. SRR

v, 3R

5 391 Deadhn cuICRTY, SO HVITHY

03 BB

A B
1) Vv II
2 1Iv Vv
@) II I
4) III A%

C
III
II
II1
I

H =g

030 BITRBY, B3 FINS PUINIS

2O
A, oondeess
Upialevs!
B.
B0 WIS
C.
D.

(1)
(2)
3)
4)

©ad),  J8Zo00

ISe BoBeoTTRFS WBODG, TR

I 23ne% Bo0035S mmﬁc'o’

RO m@&%d 2O To%mo3

F00UI IRONOT &80PRROR PBred
s i

PHSNT FOTRT FER BRI 2

B,A,D,C
C,A,D,B

B,y G
C,D,A,B
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qe. Match List I with Lig 1

List I List IT
(Mountain (Location—
Peaks) District)

A. Ballalarayana I. Chikkaballapura
Durga

B. Savandurga II. Kodagu

C. Chandragiri III. Tumakuru

D. Channarayana IV. Ramanagara
Durga

V. Chikkamagaluru

Choose the correct answer from th

options given below :

@ Vv I II III
2 IV 111 nm I
@) V v I I

78. Match List I with List IL:

List I List II
(wildlife (District)
Sanctuary)
A. Nugu 1. Gadag
B. Bukkapatna II. Chitradurga
C. Jogimatti I11. Uttara Kannada
D. Kappatagudda IV. Mysuru

V. Tumakuru

Choose ﬁhe correct answer from the

= options given below :
A B C
1 VvV II 111

«

D
I
@ IV A% II I
@) 1II I Inm v
(4) III v I I

4. Consider the following events in the
history of India :
A. Rise of Pratiharas under King Bhoja
B. Establishment of Pallava power
under Mahendravarman-I
C. Establishment of Parantaka chola-I
D. Pala dynasty founded by Gopala

What is the correct chronological order of
o= - -,
the above events, starting from the

e

earliest time ?

(1) B,AD,C
2) C,AD,B
3) B,D,AC

4) C,D,AB

(376

547
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76.

77.

547

womODR) §3 I

6
(2)
@)
(4)

o0 Sy o T TS

CORNIRY TR, 894 -
A FoooEdh

B. Zooowmen’

C. ©o

D. &R

83 391 DeRTHN LUITYE), RO LUZCD
B03) [RA :

(1)
(2)
3)
4)

3 NS oD ®eedody Xp

o, gons O8RS

505’3‘.60135% BROCE
gor.

o Nap:10W)

o o3y AT

ROTTTO

%a%)dj

apieX I evy)

D,C,A,B
B,D,C, A
B,D,A,C
AB,C,D

BRODFARMR DS ?

(1)
(2)

3
(4)

Q@mw - ﬁOﬁb‘f Lo* Bﬁﬁ)t@

B 0T DPOT - Boztorpogy
&80

QB0 BPerse — %mmce ifiors
-

TR - D00 gty
-

(38~C)

&M

78.

79.

81.

‘DSoex, & 08037 m%es’omgi |
TIQATITTO 035230 ?

Rremeo 35, 11eedd
TOCILIOCN0 I[P

O30 TORT BB D03

B0 M0OR

()
(2)
(3)
4)

!

19480¢)  goodeodd RS0 Idg
Galantaniay €200 ToCSRF 3T
BRTE ?

sDTeRD B3

STTeRD® 030ES

SRTCRD Ppee

TRORT =93,

)
(2)
(3)
4)

JOBHOBIT O3

TP030PIND
(1) #ai@

(2) amss@v
3) rbeJJﬁr
4) oam@'aéaw

PG RT3
B 50BOWRS.

3o #MEd@L 1887
QAT ?

(1) Fateo

(2) 3% o000 VNSRS,
(3)
(4)

3¢ odndd

ToR* W%
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The Revolt of

during Auranng-‘b’s

Peasant a )
grarij
background. e | Society’ ?

Gopal Krishna Gokhale

d the ‘Servants of India

‘ penod bad' & 78. Who founde

(b Reputs (1)

(2) Jats and Satnamis (2) Dadabhal Naoroji
., Ram Mohan Roy

(3) Marathas (3) Raja |

(4) Mahatma Gandhi

(4) Sikhs

79. What was the name of the Hyderabad

i i ducted by th
76. Arrange the following Indian states who campaign operation concuetec By HHE

signed the Subsidiary Alli i
chronological order : e R

Indian Army in 1948 ?
(1) Operation Shakti

A. Marathas

B. Hyderabad (2) Operation Unity
C. Awadh (3) Operation Polo
D. Mysore (4) Operation Maitri

Chi
GoEg Thie gorfenti Shmwer team. % The remnants of a Buddhist Stupa of the

options given below :

Satavahana period are found at

(1) D,C,A,B

(2) B.D.C A (1) Sannathi

3) B,D,AC (2) Kanaganahalli
4) A,B,C,D 3) Gulbarga

77. Which one the following pair is n (4) Rajaghatta

correctly matched ?
(1) Itutmish — Invasion of Chengiz 81. Who was the founder of the Deva Samaj
Khan in 1887 ?
(2) Muhammad bin Tughluq — Invasion .
of Tarmashirin , N -
(3) Firoz Tughlaq - Invasion of Timur (2) Shiv Narayan Agnihotri
(4) Muhammad Shah — Invasion of (8) Ram Bajpai
(39-C)

947
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ooy TODE| 86, FoTRRET” DD, Yy
82. wugo FBe3 o B DBORPTE, 2SR, LIBRTTO
agrdd ? 1) DEIRS

1) D0 TR @ U

@) woue oo Ho3 ) BoRr®

(3) 15 3030 DI, @ N3

@)  Reenos weg B0 67, btoccs so W e
83. 1923 T gx IR a@,ﬁﬁg@g’? L BOFRIFIOIRN BRERD DY,

(1) wdeed . (1 315-400nm

(2) onzyo (2) <280nm

@) #nougd ("? (3) 280-315nm

(4 280
(4) BIOTLRT® i e am

8. NI IR wBoO  wIWosdod

84. VBRI’ -IROIT F0Brd WOODTONG W3R ToRd o euR s
(1) 2odee, T
(2)  =ITog R : @ r
(8) AR 3) N
4) SOIC FWeSrisd 4 A

THT][OHRE  IBRIY @l 1200°C A

85. 0T DRI & F0tINRIS 2

e 0TI
(1) DDoreee
Q) w—-’%ﬁmo
2) Dgnece
(2) em%%eﬁ)
@) )R Q) aTRn
(3) TIRRE®

4) 302D, D Race ) ey

A @ DIReeo

547
(40-C)
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" The leader of Ekg Moveunegy
mn

Pradesh was : Uttar | gg. - mypervolume’ was used to
(1) Madari Pasgi explain niche by
(2) Baba Ram Changrg (1) Hutchinson

Elton
(3)  Gauri Shankar Misra Z; Kendeigh

(4)  Govind Ballabh Pang

(4) Grinnell
83. Flag Satyagraha in 1923 was held in 87. Ozone does mnot effectively  filter
(1) Baroda UV radiation i
15 — 400 nm
(2) Nagpur w8

(2) <280nm
(3) Kolhapur
(3) 280-315nm

(4) Ahmedabad
(4) >280nm

84. Ecotone is a transitional zone between Which of the following symbol expresses

(1) Biomes intrinsic rate of population growth ?
(2) Populations 1 K
(8) Communities (2) r
(4) Ecoregions 3 N
4) A

85. Temperature inversion occurs at

Atmospheric temperature rises to 1200°C
(1) Troposphere -
(2) Mesosphere (1)  Thermosphere
(3) Both (1) and (2) (2) Thermopause
(4) Stratopause, Mesopause ~and|  (3) ‘Troposphere
Tropopause (4) Mesosphere
(41-C)
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BONTY | 94, Bagoee wHeRQ, B3F0FES BoY wy

90. D) wbudﬁ) ;ﬂdmfdd
8rn08ctnng TORONGE) evATEIR)
(1) 3gcdna Hivd v » !
o - 2 = :
2)  JSpeonsd @) < |
(3) =onond @) (2) @A) (3) AVER

@ (1) I3 (2) BB
wng | 95 &éf@ﬁﬂ?’d&ﬁ@ﬁ@?ﬂ:

173e :-'»’D?&d RF RO noong Des
BRSO 99350 BEORIITO

91. F3Pomoos (Albedo) BTC T3
1) ®3-3don BT PRI, -
[+

B3RS
@  ©3-Ioorimed b IBRHIPS

3) Cod-Zdon Bed eSdneas &

B. ®gso00 27 ToF B RIS
C. ~no e:sdfaer%

. D. 0TS COP-15 (01 2)
@) ot Oepr-gtona oV
BSPORZH QRINET BROTOTT
(1)  0RTBREROD" WS

92. =¥mE ®BO DOIONEE), odoTpe

(2) TR0 wTOT
ook /@Y e Nod HFODIT =g

D aF CUIP-FouE IR
2B RedTS 2022

(3)

93.

(1) 400m
(2) 600m @ o cinade oe
(3) 200m
@ 1000m Lilos. wom>  Amwmeods  soossiond
oo FOIOF _ Ideesonvd SRRSO AR BN QBOITE,
RogdOR0I. EUgTRTTEOT) TYTRVRTBHD :
(1) oD (1) Bo&r*
(2) GUB-GVFBOODT @) B3R
(3) QUFBOOH @ P,
4) 30 (9 0%,
(42-C)
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90.

91.

92.

93.

547

b ¥

The aquatic environment

limnetic zone ig that lacks 94.
(1)  Shallow pondg
(2) Lakes
(3) Oceans
(4) Both (1) and (2)
Albedo is the ratio of
(1) Absorbed to reflected short-wave | 95.
length
(2) Reflected to incoming short-wave
length
(3) Absorbed and incoming long-wave | *
length
(4) Reflected to incoming long-wav
length
In deep aquatic environments, t
euphotic zone extends from surface to
(1) 400m
(2) 600m
(8) 200m
(4) 1000 m
96.
Thermal stratification occurs in
lakes.
(1) Temperate
(2) Subtropical
(3) Tropical
(4) Tundra
(43-C)

the rate of

respiration in

At compensation level,

phowsynthBSiS e
aquatic environment.

1 >

2 =

3 <

(4) Both (2) and (3)
Consider the following :

A. Measuring progress on the

17th Sustainable Development Goal

g o7th Annual Conference of the
Parties
C. Ocean Health

D. Biodiversity COP-15 (Part 2)

These pertain to :

(1) The European Union

(2) The Paris Agreement

(3) UN Highlevel Summits and
Conferences 2022

(4) None of these

Succession as replacement of one

community by the other till it attains a
climax was stated by :

(1) Kendeigh
(2) Hutchinson
(3) Cowles

(4) Clements
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97. 33 ZINT BT

98.

547

<0 mdy e3RezN
Rowogdamee, ?

() Hooar HETRS

2) PO BTIRI

3)  Roms TS

@  joos HERTORS

[OBOTTED WHESRH <onengsd, 3

FRBO3RON RITA !
DR Hori3/ RO

A 1979 I &nedrotint Honsd

B. 1972 II. COP-7

C. 1988 III. ¥ Bresr’ ﬁaig;@d

D. 2015 IV. S3p00=8e aagpcmma?
ﬁab@eedd, D)

V. COP-21
& 9r DRt CUFoNY o tuZo

@Oi% m@ : 100.

A B C
1 I \4 v
2 IV I I
3 IV I
4 I I

I

=g

(44-C)

8 91t Deat>D CuITHYY, IO CUI[Ry

99. "w“ﬁulaigl T3 11 BRES BRoDA :

T3 1 §0e3 11

COP-13 I S0
PR
-39

COP-3 I1. R0 ORI
=8 UN
AT

REDD+ II1. 239® Fo030F
03002

Rio+20 IV. ﬂ%&i@f
Fpctincie”

803%5&)3@:

(D
(2)
(3)
4)

A B C D
111 v II I

I II1 Iv 1I
v I IT II1
I I11 I 1A%

COP-MOP 10 2538, Rowodad

(1)
(2)
(3)

(4)

DoriRecdd &R ctdneEer
Bre® Bp i
50 E3e23e p,cedneToes

33 CARFTR B,
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t " pot related to Ashoka 2

(1) Eran Inscriptiong List]

(2) Dauli Inscriptjons A COP- 13
(3) Gavunat Insmptl ons

(4) Birat Inscriptions 0. UN Conference

B. COP-3
on Sustainable
Development
98. Identify climate change events with place
and timeline : c. REDD+ 111. Bali Action Plan

Year Event
D. Rio+20 IV. Kyoto Protocol

A. 1979 I.  Toronto Targets
= Choose the correct answer from the

B. 1972 II. COP-7 options given below :

C. 1988 TIII. Stockholm Confere A B C D

v o1
D. 2015 IV. First World Climat 1y I

Conference, Geneva @ 1 111 v 1

V. COP-21 @ W I I I

4) 1I 111 1 I\Y
Choose the correct answer from

options given below :

A B C D 100. COP-MOP 10 pertains to
1 I \% v I (1) Nagoya Protocol
2 IV 111 I \Y% (2) Doha Protocol
@ IV I v I (3) Cartagena Protocol
@ n m I I (4) None of these
547 (45-C)
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